ELA 2
Grade 2 Poetry

Read the following passage and answer questions I through 5.

I Caught a Fish

1 One, two, three, four, five,

2 Once I caught a fish alive,

(%]

Six, seven, eight, nine, ten,

4  Then I let it go again.

%]

"Why did you let it go?”

o

Because it bit my finger so.

~J

"Which finger did it bite?"

[+=]

This little finger on the right.

- Author unknown

1 Which finger did the fish bite?
A The left thumb
B The right thumb
C The pinky finger on the left hand
iD! The pinky finger on the right hand




2 Read this line from the poem.

Because it bit my finger so.

Which word ends with the same sound as sg?
A too

B do

iC show

D now

3 Look at this picture. |

Which word begins with the same sound?
PAl eight |
B once |
C it

D ten

4 Which word from the passage has two syllables and a long vowel sound?
A finger
B little
:Ci Because
D seven
5

Which pair of words from the poem have a different spelling pattern but
the same vowel sound?

iAl bite, right

B go, so

C it, bit

D five, alive



